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M. A./ M. Sc. (Second Semester) (Main/ATKT) 
EXAMINATION, May-June, 2020-21 

GEOGRAPHY  
Paper Seventh 

(Oceanography) 

Time : Three Hours ]  [ Maximum Marks : 80 
    [ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 
oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- fuEufyf[kr esa ls fdrus QSne dh js[kk leqæ dh vksj eXurV dh 

vfUre lhek fu/kkZfjr djrh gS \ 

¼v½ 200 QSne 

 [ 2 ] E–414 

¼c½ 300 QSne 

¼l½ 100 QSne 

¼n½ 50 QSne 

Which on of the following given fathom lines decides the 

last limit of the continental-shelf towards sea ? 

(a) 200 Fathom 

(b) 300 Fathom 

(c) 100 Fathom 

(d) 50 Fathom 

2- egklkxjksa esa ty dh ml ijr dks] tks lrg dh xeZ ijr rFkk 

xgjkbZ dh B.Mh ijr dks vyx djrh gS] dgrs gSa % 

¼v½ vf/klj 

¼c½ v/k%Lrj 

¼l½ rki izo.k Lrj 

¼n½ gkbiksFkÆe;k 

The layer of water in the ocean that separates the warmer 

surface layer from the deeper colder layer is called : 

(a) Epilimnion 

(b) Hypolimnion 

(c) Thermocline 

(d) Hypothermia 
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3- fuEu esa ls fdl egklkxj esa fM,xks xkÆ’k;k uke dk }hi gS \ 

¼v½ vVykafVd egklkxj 

¼c½ iz’kkUr egklkxj 

¼l½ fgUn egklkxj 

¼n½ mÙkjh /kqzoh; egklkxj 

Diego Gracia is an island in which of the following oceans ? 

(a) Atlantic ocean 

(b) Pacific ocean 

(c) Indian ocean 

(d) Arctic ocean 

4- foryh; eSnkuksa dh lkekU; xgjkbZ buds chp gksrh gS % 

¼v½ 1000&6000 eh- 

¼c½ 2000&6000 eh- 

¼l½ 3000&6000 eh- 

¼n½ 4000&6000 eh- 

The general depth of abyssal plains varies between : 

(a) 1000-6000 metres 

(b) 2000-6000 metres 

(c) 3000-6000 metres 

(d) 4000-6000 metres 
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5- lwph&I dks lwph&II ds lkFk lqesfyr dhft, % 

lwph-I 

egklkxj xrZ 

lwph-II 

vofLFkfr 

(A) pSysUtj (i) nf{k.kh iz’kkUr egklkxj 

(B) vkfYMªd (ii) mÙkjh vVykafVd egklkxj 

(C) jkseka’k (iii) mÙkjh iz’kkUr egklkxj 

(D) uSjsl (iv) nf{k.kh vVykafVd egklkxj 

dwV % 
 A B C D 

¼v½ (iii) (i) (iv) (ii) 

¼c½ (iv) (iii) (ii) (i) 

¼l½ (i) (ii) (iii) (iv) 

¼n½ (ii) (iv) (i) (iii) 

Match List-I with List-II and  select the correct answer from 

the codes given below : 

List-I 

Oceans 

List-II 

Locan 

(A) Challenger (i) South Pacific Ocean 

(B) Aldrich (ii) North Atlantic Ocean 

(C) Romanche (iii) North Pacific Ocean 

(D) Nares (iv) South Atlantic Ocean 
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Code : 

 A B C D 

(a) (iii) (i) (iv) (ii) 

(b) (iv) (iii) (ii) (i) 

(c) (i) (ii) (iii) (iv) 

(d) (ii) (iv) (i) (iii) 

6- fuEufyf[kr esa ls dkSu&lk izoky }hi gS \ 

¼v½ rLekfu;k 

¼c½ y{k}hi 

¼l½ ekynho 

¼n½ jkes’oje~ 

Which of the following is a coral reef ? 

(a) Tasmania 

(b) Lakshdweep 

(c) Maldives 

(d) Rameshwaram 

7- fuEufyf[kr egklkxjh; /kkjkvksa esa dkSu&lh B.Mh /kkjk,¡ gSa \ 

¼v½ czkthy] dSfyQksÆu;k 

¼c½ dSfyQksÆu;k] QkWdyS.M 

¼l½ QkWdyS.M] xYQLVªhe 

¼n½ czkthy] xYQLVªhe 
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Which of the ocean currents are the cold current ? 

(a) Brazil, California 

(b) California, Falkland 

(c) Falkland, Gulfstream 

(d) Brazil, Gulfstream 

8- U;wure yo.krk dgk¡ ik;h tkrh gS \ 

¼v½ ckfYVd lkxj 

¼c½ yky lkxj 

¼l½ Hkwe/; lkxj 

¼n½ vjc lkxj 

The lowest salinity is found in the : 

(a) Baltic sea 

(b) Red sea 

(c) Mediterranean sea 

(d) Arabian sea 

9- lkxj ds lrgh ty dk vkSlr rkieku gksrk gS % 

¼v½ 22°C 

¼c½ 15°C 

¼l½ 26.7°C 

¼n½ 18.6°C 
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The average temperature of the surface water of the oceans  

is : 

(a) 22°C 

(b) 15°C 

(c) 26.7°C 

(d) 18.6°C 

10- lwph&I dks lwph&II ds lkFk lqesfyr dhft, % 

lwph-I lwph-II 

(A) gfjr ikni (i) vi?kVd 

(B) i’kq ijthoh (ii) izkFkfed miHkksDrk 

(C) ikni ijthoh (iii) f}rh;d miHkksDrk 

(D) dod (iv) mRiknd 

dwV % 

 A B C D 

¼v½ (iv) (iii) (ii) (i) 

¼c½ (ii) (i) (iv) (iii) 

¼l½ (iii) (ii) (i) (iv) 

¼n½ (i) (ii) (iv) (iii) 
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Match List-I with List-II and  select the correct answer from 

the codes given below : 

List-I List-II 

(A) Green Plants (i) Decomposer 

(B) Animal Parasites (ii) Primary consumer

(C) Plant Parasites (iii) Secondary 

consumer 

(D) Fungi (iv) Producer 

Code : 

 A B C D 

(a) (iv) (iii) (ii) (i) 

(b) (ii) (i) (iv) (iii) 

(c) (iii) (ii) (i) (iv) 

(d) (i) (ii) (iv) (iii) 

11- ;fn ,d LFkku ij lk;a 7-00 cts Tokj vkrk gS rks vxyk Tokj dc 

vk;sxk \ 

¼v½ vxys fnu 00-26 am 

¼c½ vxys fnu 07-26 am 

¼l½ vxys fnu 07-52 pm 

¼n½ vxys fnu 12-39 pm 
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If a tide occurs at a place at 07.00 pm when will the next tide 

be occur : 

(a) 00.26 am of the next day 

(b) 07.26 am of the next day 

(c) 07.52 pm of the next day 

(d) 12.39 pm of the next day 

12- fuEu esa ls dkSu lqesfyr ugha gS \ 

¼v½ LFkSfrd rjax fl)kUr&gSfjl 

¼c½ larqyu fl)kUr&U;wVu 

¼l½ izxkeh rajx fl)kUr&ejs 

¼n½ voryu fl)kUr&MkÆou 

Which of the following pairs is incorrect ? 

(a) Stationary wave theory—Harris 

(b) Equilibrium theory—Newton 

(c) Progressive wave theory—Mare 

(d) Subsidence theory—Darwin 

13- Xokuks D;k gS \ 

¼v½ lkxjh; eNyh 

¼c½ eSaXkuht ÇiM 

¼l½ lkxjh; eNyh 

¼n½ lkxjh; ikS/kk 
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What is Guano ? 

(a) Sea bird 

(b) Manganese nodules 

(c) Sea fish 

(d) Sea plant 

14- dkWM eNyh dh lokZf/kd vkiwfrZ fdl {ks= }kjk dh tkrh gS \ 

¼v½ vkblyS.M o U;wQkm.MyS.M 

¼c½ QkWdyS.M 

¼l½ ukosZ 

¼n½ fczfV’k }hi 

Which of the following regions in the biggest supplier of cod 
fish ? 

(a) Iceland and Newfoundland  

(b) Falkland  

(c) Norway  

(d) British Islands  

15- tSo leqnk; }kjk fuEufyf[kr esa ls fdl ÅtkZ dk lokZf/kd mi;ksx 

fd;k tkrk gS \ 

¼v½ vkf.od ÅtkZ  

¼c½ Hkw&rkih; ÅtkZ 

¼l½ lkSj ÅtkZ 

¼n½ Tokjh; ÅtkZ 



 [ 11 ] E–414 

 P. T. O. 

Which of the following energy is utilized maximum by the 
bio- communities ? 
(a) Molecular energy  
(b) Geothermal energy  
(c) Solar energy  
(d) Tidal energy  

16- egklkxjh; lrg ds rkieku dks izHkkfor djus okyk lcls egRoiw.kZ 

dkjd gS % 

¼v½ v{kka’kh; fLFkfr  

¼c½ egklkxjh; /kkjk,¡ 

¼l½ ty dk ?kuRo 

¼n½ var%lkxjh;  dVd 

Which is the most important factor affecting the surface 
temperature of ocean ? 
(a) Latitudinal state  
(b) Ocean currents  
(c) Density of water  
(d) Submarine ridges  

17- xzsV cSfj;j jhQ fLFkr gS % 

¼v½ mŸkjh vkWLVªsfy;k rV ij 

¼c½ iwohZ vkWLVªsfy;k rV ij 

¼l½ if’peh vkWLVªsfy;k rV ij 

¼n½ nf{k.kh vkWLVªsfy;k rV ij 

Great Barrier Reef is located at : 
(a) North Australia Coast  
(b) East Australia Coast  
(c) West Australia Coast  
(d) South Australia Coast  
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18- vkWLVsªfy;k dk if’peh rV fdl dkj.k ls vf/kd yo.krk lwfpr djrk 

gS \ 

¼v½ lkeqfnzd ty/kkjk,¡ 

¼c½ ok;q dh fn’kk 

¼l½ ‘kq”d ekSle dh fLFkfr 

¼n½ mi;qZDr lHkh  

The western coast of Australia records higher salinity due to : 

(a) Ocean currents  

(b) Wind direction  

(c) Dry weather condition  

(d) All of the above  

19- lwph&I dks lwph&II ds lkFk lqesfyr dhft, % 

lwph-I lwph-II 

(A) QkWdyS.M /kkjk (i) m”.k /kkjk  

(B) ukosZft;kbZ /kkjk  (ii) ‘khry /kkjk 

(C) ¶yksfjMk /kkjk  (iii) vVykafVd egklkxj 

(D) vks[kksLVd /kkjk  (iv) dSepsVdk izk;}hi 

dwV % 
 A B C D 

¼v½ (ii) (iii) (i) (iv) 

¼c½ (i) (ii) (iv) (iii) 

¼l½ (iii) (i) (ii) (iv) 

¼n½ (iv) (iii) (i) (ii) 
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Match List-I with List- II : 

List-I List-II 

(A) Falkland Current (i) Warm Current 

(B) Norwegian Current (ii) Cold Current 

(C) Florida Current (iii) Atlantic Ocean  

(D) Okhotstak Current (iv) Kamchetka 
Peninsula 

Code : 

 A B C D 

(a) (ii) (iii) (i) (iv) 

(b) (i) (ii) (iv) (iii) 

(c) (iii) (i) (ii) (iv) 

(d) (iv) (iii) (i) (ii) 

20- fuEufyf[kr eas ls dkSu&lk pwuk iad ugha gS \ 

¼v½ VsjkikWM iad  

¼c½ Mk;Ve iad  

¼l½ Xyksfctfjuk iad  

¼n½ mi;qZDr esa ls dksbZ ugha  

Which of the following in not a calcareous ooze ? 

(a) Pteropd ooze 

(b) Diatom ooze 

(c) Globigerina ooze 

(d) None of the above  
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(Section—B) 
vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nks ls rhu okD;kas eas fyf[k,A 

 Write your answer using 2-3 sentences only (any eight). 

1- leqnz foKku dh ifjHkk”kk nhft,A  

Define Oceanography.  

2- gsyksDykbu D;k gS \ 

What is Halocline ?  

3- lkxjh; yo.krk dks ifjHkkf”kr dhft,A  

Define marine salinity.  

4- lkxjh; ck;kse esa izkFkfed mRiknd dkSu gksrs gSa \ 

What are the primary producers in marine biome ?  

5- iSysftd fu{ksi fdls dgrs gSa \ 

What is pelagic deposits ?  

6- e/; egklkxjh; dVd dks ifjHkkf”kr dhft,A  

Define mid-oceanic ridge.  

7- lkeqfnzd o”kkZou ls D;k vk’k; gS \ 

What do you mean by Rainforest of the oceans ? 

8- jsfM;ksysfj;k dks ifjHkkf”kr dhft,A  

Define Radiolaria. 

9- Hkkjr eas vksVsd ÅtkZ dh lokZf/kd laHkkouk dgk¡ gS \ 

Where is the maximum possibility of OTEC energy in  
India ? 



 [ 15 ] E–414 

 P. T. O. 

10- mPprfefrd oØ fdls dgrs gSa \ 

What is hypsometric curve ? 

 [k.M&l izR;sd 3 

(Section—C) 
y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A vf/kdre 75 ‘kCnksa eas mŸkj 

fyf[k,A  

 Attempt any eight questions. Write your answer using  
75 words. 

1- lkxjh; rjax ,oa Tokj eas vUrj Li”V dhft,A  

Explain the difference between sea wave and tides.  

2- izokg] /kkjk ,oa fo’kky/kkjk ls D;k vk’k; gS \ 

What do you mean by Drift, Current and Stream ?  

3- leqnz ds fu;e dks laf{kIr eas le>kb,A  

Explain the law of the sea in brief.  

4- ukbVªkstu pØ D;k gS \ 

What is Nitrogen Cycle ?  

5- ryoklh tho ls vki D;k le>rs gSa \  

What do you understand by Benthic Organism ?  

6- viHkw Tokj o miHkw Tokj ls vki D;k le>rs gSa \ 

What do you understand by Apogean and Perigean tides ?  

7- leqnzh; ÅtkZ lalk/kuksa dk laf{kIr fooj.k izLrqr dhft,A  

Present a brief account of marine energy resources.  

8- is: ds rV ij ,y&fuuks dk D;k izHkko iM+rk gS \ 

What is the effect of Al-Nino on the coastal area of Peru ?  
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9- MsYVk ,oa ,Lpqvjh dks la{ksi eas le>kb,A  

Explain the delta and estuaries in brief.  

10- isySftd tSo dfVca/k dks le>kb,A  

Explain the pelagic biozone.  

 [k.M&n izR;sd 5 

(Section—D) 
nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % fdUgha pkj iz’uksa ds mŸkj nhft,A viuk mŸkj vf/kdre 150 ‘kCnksa 

eas nhft,A  

 Attempt any four questions. Write your answer using  
150 words.  

1- leqnz foKku dh izd`fr o fo”k;{ks= dk o.kZu dhft,A  

Describe the nature and scope of Oceanography.  

2- egklkxj dh rygVh ds mPpkop dk o.kZu dhft,A  

Describe the relief features of ocean floor.  

3- lkxjh; fu{ksiksa dk dkj.k ,oa forj.k crkb,A  

Mention the reasons and distribution of marine deposits.  

4- Tokj&HkkVk dh mRifŸk ds fdlh ,d fl)kUr dh foospuk dhft,A  

Discuss the any one theory of the origin of the tides.  

5- izoky fHkfŸk;ksa dh mRifŸk ds fl)kUrksa dh foospuk dhft,A  

Discuss the theories of the origin of the coral reefs.  

6- vka/kz egklkxj dh ty/kkjkvksa ds forj.k dk fo’ys”k.k dhft,A  

Analyse the distribution of currents of Atlantic Ocean.  
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